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(BABI: 4 Sv/h)
1TEUX GRITE #h m) 48138 78138 10A25H 18118 |[FHHRGHRE

1R@AZ2=74]535) 0.026 0.029 0.028 0.026 0.027
2X(ALAT8FEHIER SR ML) 0.035 0.043 0.035 0.035 0.037
SR(@AZ2=TFT«h15) 0.044 0.057 0.047 0.049 0.049
AR@AZ1=T4L5) 0.040 0.044 0.057 0.043 0.046
S5RATKRARE) 0.061 0.054 0.052 0.064 0.058
6 X (B R=fEET H15) 0.076 0.069 0.076 0.085 0.077
7 X({HEFR) 0.052 0.055 0.054 0.052 0.053
8RO =T «h15) 0.034 0.048 0.058 0.065 0.051
OR(EMFTEHALLL) 0.056 0.067 0.055 0.062 0.060
10X (BN EMNFAT) 0.036 0.055 0.045 0.046 0.046
11R(REER) 0.047 0.052 0.054 0.051 0.051
12K (A2 =T (/:15) 0.031 0.035 0.038 0.043 0.037
13X (@31=T(BAKtU4-) 0.048 0.044 0.053 0.051 0.049
14X CGHFER 7 E R/ 0.052 0.052 0.054 0.049 0.052
15X (EHEEVI-) 0.050 0.052 0.051 0.053 0.052
16X (A2 =T (/:15) 0.044 0.051 0.048 0.034 0.044
17X (B E255F) 0.055 0.067 0.058 0.056 0.059
18RGEMIE 2 2—) 0.056 0.063 0.049 0.058 0.057
1R (NEEFELLL) 0.044 0.028 0.028 0.033 0.033
20R(IBF 4 AR/INFERR) 0.049 0.045 0.054 0.047 0.049
21R@AZ1=F«L) 0.053 0.053 0.062 0.049 0.054
22X (K#I/\R[E8515) 0.044 0.048 0.056 0.043 0.048
23R (ZEHERNIT IUR) 0.047 0.062 0.050 0.047 0.052

1 0.047 0.051 0.051 0.050 0.050
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